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QUESTION 1

Which SOA architectural concept is applied as an organization combines services to perform a
business process?

A. Modularity

B. Composition

C. Encapsulation

D. Separation of concerns

Correct Answer: B

QUESTION 2

Why is messaging important to an SOA?

A. Messaging improves the performance of complex environments.

B. Messaging implements separation of concerns resulting in faster development.

C. Messaging facilitates communication between distributed heterogeneous environments.

D. Messaging is used to communicate between a repository and an Enterprise Service Bus (ESB).

Correct Answer: C

QUESTION 3

A business has been \\'doing\\' SOA for a while and is becoming disillusioned with the results. They
are not seeing the Return on Investment (ROI) they expected even though they have created
several hundred services. What is the likely cause of this problem?

A. Services are replicated based on language and geographic needs.

B. Developers need better training on how to create reusable services.

C. Governance processes are not in place to review and approve services.

D. Scaling the environment is challenging for such large SOA implementations.

Correct Answer: C

QUESTION 4
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Which service is running in an SOA environment that is not defined in a service registry and is
built without proper governance or controls?

A. Rogue Service

B. Duplicate Service

C. Shelfware Service

D. Composite Application Service

Correct Answer: A

QUESTION 5

If a component of the overall system is functionally complete and operates within that system
independently from the functionality of the other components, it is an example of which SOA
architectural concept?

A. Modularity

B. Extensibility

C. Loose coupling

D. Separation of concerns

E. Composite implementation

Correct Answer: A

A2160-669 VCE Dumps A2160-669 Practice Test A2160-669 Braindumps

A2160-669 VCE Dumps | A2160-669 Practice Test | A2160-669 Braindumps 3/3


https://www.passapply.com/a2160-669.html
https://www.passapply.com/a2160-669.html
https://www.passapply.com/a2160-669.html
http://www.tcpdf.org
https://www.passapply.com/a2160-669.html
https://www.passapply.com/a2160-669.html
https://www.passapply.com/a2160-669.html

